
Masy uzyskane z przekrojów poprzecznych 
wjazd od ul. Lodowej 

  
 masa    1 Wykop                                    
 masa    2 Nasyp                                    
   
.TA 
      stacja  M nr     pow.          masa          suma 
   
.TE 
.DT 
    0+000.000 M  1       3.31                               
              M  2       0.08                               
    0+034.000 M  1       1.58          83.03          83.03 
              M  2       0.24           5.42           5.42 
    0+068.000 M  1       3.31          83.13         166.16 
              M  2       0.14           6.38          11.80 
    0+104.000 M  1       3.45         121.68         287.84 
              M  2       0.09           4.10          15.90 
    0+109.000 M  1       3.47          17.28         305.12 
              M  2       0.64           1.83          17.73 
    0+119.484 M  1       2.47          31.14         336.26 
              M  2       0.96           8.39          26.12 
.TA 
.TE 
.NS 
 Lista sum                        przedział stacji    0+000.000 do    0+119.484 
   
 masa    1 Wykop                                                      336.26 m3 
 masa    2 Nasyp                                                       26.12 m3 
.NS 


